Read the problems and solve

Michelle has 7 boxes of crayons. Each box holds
5 crayons. How many crayons does Michelle
have?

There are crayons altogether.

Each child has 6 candies. If there are 6 children,
how many candies are there in total?

There are candies altogether.

Each child has 5 bottle caps. If there are ©
children, how many bottle caps are there in total

There are bottle caps altogether.

Sarah has 7 boxes of apples. Each box holds
7 apples. How many apples does Sarah have?

There are apples altcgether.

Each child has 4 Skittles. If there are 7 children,
how many Skittles are there in total?

There are skittles altogether.




